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All items carry equal marks.

After you have completed filling in all your responses on the OMR Answer Sheet and the screening test has
concluded, you should hand over to the Invigilator only the Original Copy of the OMR Answer Sheet. You are
permitted to take away with you the Test Booklet & Candidate’s Copy of the OMR Answer Sheet.

Sheet(s) for rough work is appended at the end of the Test Booklet.
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1 | Which of the following is not among the five Sustainable Development Goals (SDGs) that the
Government of Himachal Pradesh seeks to achieve by 20227
Freferfea & & # o= aaq e aet (Tadsh) § o 727 §, S R ssa e 2022 9%
ST FEAT T8l 872
(a) (b) (©) (d)
To reduce infant To reduce the drop out To increase the ratio of To enhance the forest
mortality rate (IMR) rate upto zero in primary | girls from 909 to 940 per | cover in the state to 30%
from 35 to 20 and middle level schools 1000 boys in the 0-6 of its geographical area
frer g T (IMR) #7135 | yrorfayss i wreafs years category TS H aT G AT AU
ﬁ"qach(ZOq'{q“fﬂ W%Wﬁww 0-63&%%& ‘ﬂﬁ"ﬁﬁﬁ&ﬁ?%%%ﬁiﬁ
Y2 o 9 T AT ASTHAT & SATATT T 909 HEAT
q FETH T 1000 A=
9T 940 9T ATAT
2 | The Government of Himachal Pradesh has launched ‘Doodh Ganga Scheme’ for dairy and related
products in collaboration with which of the following?
AT TR9T I F [Aeferfed ® & foheh aganT & ST oY afead IeaTal & o SR
TISET F 6T 52
(a) (b) (©) (d)
IDBI (3% =Y & 31m2) NABARD (ATaTE) ADB (T =T dT) IMF (3T TH UT)
3 | Which of the following combination is not correct?
forfaa & & 19 |71 9499 98l T8l 672
(a) Pabbar Valley : Chanshal Range (T |ITET: FT9Tel @)
(b) Baspa Valley : Chung Shakhago pass (S/EYT =ITET: 9T TG 9TH)
(c) Kiarda Doon Valley : Dharti Range (FITZaT g7 =TT : €T @)
(d) Saproon Valley : Bandla Range (9% =TT : ST J@T)
(a) | (b) | (©) | (d)
4 | Match list — I and list — Il and select the correct answer from the codes given below:
AT - | S =T - 11 F7 e 7 o7 = 30 10 Fi2t 6 e 9% @@t 39 H A1 H
List — I (=T 1) List — I (F=T - 11)
(i) Gyephang (7%iT) (A) Kinnaur (FF=7)
(i) Zorkanden (STT¥a+a) (B) Chamba (=%€T)
(iii) Pir Panjal (4% dsiTer) (C) Shimla (ferw=)
(iv) Indrasan (v&TE) (D) Lahaul & Spiti (AT T& =1 )
(E) Kullu (37<1)
(a) (b) (c) (d)
BDEA CDBE DABE DABC
5 | Which of the following combination is correct?
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BEEEEI IR R

(a) Bhaba Pass (|TaT 9TH (22T)) - Kinnaur (fF=)
(b) Cheni Pass (It 919 (37T)) - Kullu (=)
(c) Hamta Pass (92T 9T (31)) - Lahaul (FTgTer)
(d) Shingor pass (fFTI¥ 919 (3%7)) - Shimla (ferwm)
(a) | (b) | (c) | (d)

6 | As per the study of Central Water Board, in which of the following valley the underground water is
being over exploited and is receding at a very fast rate?

FET A TS F LTI o AT, 79 & F e a1t § JIoeTa ST F7 STeqTaF Tg af 1@l g AT
FEd Sl 7 T A TRl 872

(a) (b) (©) (d)
Kala Amb Valley, Indora Valley, Kangra Hum Valley, Una Balh Valley, Mandi
Sirmaur 23T =T, FTET TH AT, ST qog e, He T
FTAT 3 =TT, BT

7 | The Shivalik hills are believed to have been inhabited by which of the following tribe during the pre-
vedic period?

o & 7 o ST &7 q@-atas et | forarers agri=at Fardt /et Jrar g ?

(@) (b) (c) (d)

Dasas (ZTH) Kinners (f3=7) Kiratas (Frera) Nagas (ATT)

8 | Which of the following is not the kind of marriage in Himachal Pradesh?

feam=e weor ® A § 7 st Y -yt fHerg T e A9t 8

(a) (b) (©) (d)
Darosh, Dab Dhab Thagchod-pa Jhindphook Phaktun
T =TT 7 T IE-T [k HIHRTA

9 ‘Chiri’, ‘Balu’, ‘Chak’ and ‘Phuli’ are the kinds of which of the following?
=Y, arer, =T S wer e H & e T 22

(a) (b) (©) (d)
Dress Ornaments Traditional Songs Folk Dances
IREIGNAEGIEH ATSIOT g T AT A

10 | Built in Shikhra style ‘Trilokinath’, ‘Panchvaktra’, ‘Bhutnath’ and ‘Ardhnarishwar’ are the most
famous temples of which of the following town?

for drett # At BT, deas, A §R adar Ay Fetitad #§ § e a8 F 99
gfrg AfeT 57

(@ (b) (c) (d)

Udaipur (339T) Bajaura (I(1<T) Mandi (%=T) Kangra (F1T2T)

11 | In which of the following districts of Himachal Pradesh ‘Pathar ka Khel’ fair is celebrated in the
month of October / November every year?
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A= waor & A9 § 7 Fohe el § 32 971 Fgay / Faa & Aad § ‘eI & @ Alge 71T
STaT 87

(a) (b) (©) (d)

Shimla (formem) Solan (HT) Bilaspur (FFrTeR) Mandi (¥%2T)

12

During Kushanas period Buddhist art of the plains began to infiltrate the hills, as evident from the
ruins of which of the following?

FOTOT F9T FT H HITAT TATHT 61 Al FAT 7 TRUSAT H LEAS FLAT & =671, S = § & e
e sraQret  9TH grar 8?

(a) (b) (©) (d)
Mani Gompa of Gondla | Stupa of Chetru, Kangra | Old Buddhist Shrine at Tabo M Spiti
S 2 Ty S Rewalsar abo Monestry, Spiti
RATerEe &1 T a13 GIELRCASIE
LRI
13 | Which of the following leaning temple located in Kangra district has been restored by Indian National

Trust for Art and Cultural Heritage (INTACH)?
FET o § Rug M @ T afer &1 e SRA9 999 28 HiT o U Fioa<d giies
(INTACH) g foFam s g2

(a) (b) (©) (d)
Bajreshwari Temple Bhadrakala Temple Baijnath Temple Masrur Temple
T HiaY TEFHAT e EERIRRLESS ST i
14 | The unique panchmukhi shaped ‘Marich Havan Kund’ of Devta Marich was reopened after 900 (nine
hundred) years in 2002. Where it is located?
AT AT % ATEA 1T =@l AHT F A gaq T2 &0 2002 H 900 (A7 &7) awi & arg e 7
T T AqT| T Figl 2 872
(a) (b) (©) (d)
Dholaseri, Kumarsain Sarah, Kangra Sungra, Kinnaur Shanshar, Kullu
ST, FARE FITET, FITET e, fohete oTroTe, T
15 | Who was the first woman to represent the Himachal Pradesh State in Rajya Sabha?
ST AT # BATE T297 ST FT T(AA e Fd et Tgetl Aigar did A07?
(a) (b) (c) (d)
Satyavati Dang Leela Devi Mahajan Usha Malhotra Mohinder Kaur
AT =0T AT T wETST IUT Heg =T HAIfgaT FIT
16 | An important historical document, the Nirmand copper plate issued by Mahasamanta Maharaja
Samundrasena belongs to which of the following period?
Toh Heea 01 UTAgITae SeqTest, WETawd Aol dqead g S AHe o= fHerferted § &
e &1t FT 82
(a) (b) (€) (d)
2" Century AD 7™ Century AD 2" Century BC 4™ Century AD
AL SraTeat ATt T ol eraredt ST 9F FTfT oraTear
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17 | What is the language of six hundred years old manuscript, found in Spiti by the Himachal Pradesh
Language, Art and Culture Academy?

TR ST=er AT, FeAT 3T GEFIA SAHTGHT G0 ST | TS ST ATl g 1 ATl TIOAT TG rerrd ahr

AT FT 872
(@) (b) (c) (d)
Sanskrit (S&F) Pali (IT<fT) Bhoti (sT1<1) Urdu (3%)

18 | Match the following combinations and select the wrong combination.

Frerferfera st &1 B 3 3% Torq JFIST w7 FIT Fi

(a) (b) (©) (d)
Kirgrama: Baijnath Surughna: Sirmaur Kashgir: Kangra Brahampura: Bharmaur
ESUIEHEERIRD) qEHAT IE:ERIES FTIEAT: FTEST EFRREB T

19 | Who sided the Mughals in the battle of Nadaun?
AT T ASTE | e TErett 7 |7 faar o472

(@) (b) (©) (d)
Sikhs Raja Bhim Chand of Raja Dayal of Bijarwal Raja Prithi Chand of
g Kehlur and Raja of Kangra Datarpur
FEAL & T AT =7 | TSI F TS A | g F e g 47
ST FHRIST 5 TSI

20 | Who amongst the following Raja of Kehlur shifted the residence of ruling family from Sunhani to a
place on the left bank of Satluj, traditionally called ‘Vyasgufa’?

o & 7 Fhge & e TSI 7 O 9RETe % RaTe w2 w1 qeg T § gaest & a0 AT ST T
TTHS T I T 6T 27?2

(a) (b) (©) (d)
Raja Bir Chand Raja Deep Chand Raja Bhim Chand Raja Bijai Chand
T AT =7 REI R BEIR IR T e T

21 | Which of the following district of Himachal Pradesh has been selected for the scheme of Government
of India, named ‘Aspirational District Yojna’ under vision 2022 policy?

9 7 ¥ Ram= yeor & B e & A aede st A9 2022 TSET F dgd AgaarhiE T
e o fore =gf=a B T 82

(a) (b) (©) (d)
Sirmaur Kinnaur Chamba Lahaul-Spiti
R frsiie SEL ATy

22 | Which of the following village is the starting point of the track-route to Bharmaur from Dharamshala?

9% & & 09 A7 T FHATAT F TIHIL T <h-HIT 7 LRl (65 52

(@ (b) (c) (d)

Khaniyara (@f==1T) Yol (7<) Bhagsu (9T°TH) Mataur (H217)

23 | The British Deputy Forest officer instrumental in planting and protecting the forests of Manali and
Dhungri was —
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HATAT ST T H AT S 370! a@T v § e Tofeer 37 aw faehrdt 7 TR o7 -

(@ (b) (c) (d)
Duff Dunbar C.R. Johnson A.T. Banon Travoc
T AT |31, STt T I EElED

24

Which of the following was one of the oldest of the hill states in the Western Himachal?

5 & & = o Rmera ot Rem= F 9grEt Ramadr § g9 e RamEd 872

(@) (b) (©) (d)

Koti (1) Bushehr (F2Tg) Dhami (&THT) Keonthal (7217

25

Which of the following district of Himachal Pradesh has the largest number of larger, medium and
small scale industrial units?

A= yaor & Aefrtead § & fra ey § 999 SA7aT 927, 999 37 7 =R SRredl fil 9]
2?2

(a) (b) (c) (d)

Kangra (F13TET) Solan (&) Una (FT) Sirmaur (Freat)

26

Match the following combinations of sanctuaries with the districts where they are situated and select
the incorrect answer-

FATeeAt  foret % vy Aeterfaa saret &1 e 3 Sgi o fud 8 87 a3 T F9T Fi-

(a) Rupi Bhaba Sanctuary : Kinnaur (&t ST4T srsameoy: fsit)

(b) Tundah Sanctuary : Chamba (ZSTg S9ATLIT: =)
(c) Kanawar Sanctuary : Kinnaur (FHTa< rsameeT: i)
(d) Kugti Sanctuary : Chamba (T STHATU: <4T)

() | (b) | (©) | (d)

27

Which of the following river flows 400 km almost parallel to Indus and then cuts through both the
Zanskar and Great Himalayan ranges?

% & & =1 |t A<T 6 % FHEiae aEr 400 AT agdt § S e SiEw T 988 R
T AT T FHredl 572

(@) (b) (c) (d)
Satluj (FT<T™) Chenab (F=HT) Ravi (3T47) Beas (34TH)
28 | Which of the following was not the cooperative bank in Himachal before 19477
1947 & gt fgAT=o ¥ Mefaiad & | Fi9 ag&l 9 dg! a1
(a) (b) (©) (d)
The Mahasu Central The Mandi Central The Chamba Central The Sirmaur Central
Cooperative Bank Cooperative Bank Ltd. Cooperative Bank Ltd. Cooperative Bank Ltd.

[EIGES] [EIEES] ferffes

29

The ‘Burua Pass or Buran Ghati’, ‘Kimilay or Khamilogo Pass’, ‘Borsu Pass’ and ‘Lamkhaga Pass’
are situated along the southern ridge of which valley of Himachal Pradesh?
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AT T T A TS, Tl a2 AT @A &7, g 71 SR A &2 AT qe9

& T =TT o aferlT e St 7 o g2
(a) (b) (c) (d)
Chandra Valley Baspa Valley Hangrang Valley Pabbar Valley
g7 TTEr ATET BT EASSICIC) T FTE
30 | Which of the following is not the main component of National Urban Livelihood Mission (NULM)?
9 & & 9 TP At AT {9 (TAUAUR) 7 &7 92 Tol
(a) (b) (© (d)
Capacity Building and Self Employment Empowerment of girl Social Mabilization and
Training Programme child / adolescent girl institution development
ereraT fetor s gfdreror TSI FHTAFH ToReTTT aTferaRTetl &7 T S9eT 3T
AT e e
31 | During Raisina Dialogue, 2020 India signed a MOU on ‘Green Strategic Partnership’ with which
country?
AT STAART, 2020 F S0, I A Fa g Farr Mg Lo ardadfa’ u% uF gusar
STIA I¥ gEareA o
(a) (b) (©) (d)
Denmark (37HTF) Finland (fFis) Russia (¥¥) Maldives (ATereta)
32 | What are Nidhi companies?
BIEERIBEIED Y
(a) (b) (©) (d)
They receive deposits They are non-banking They deal with their All of these
from and lending to its financial companies share — holders members ¥ aoft
members only for their (NBFC) only
mutual benefits T -afET o< X ¥EeT T T qTE
T AT TEAT H a9 | ol ' . :
(T & | et a7 oy 7 et 2
O TLEIL ATH g AT
STHT T Sl R0T <l &
33 | Which is not related to ‘Bhoomi Rashi Portal’?
sy Tl Frder By St wdt 27
(@) (b) (©) (d)

It is related to
maintenance of revenue
records
g Toed als &
TEIETE ¥ He 19T §

Launched in 2018 by
Ministry of Road
Transport and Highways

TH TEF TER T
TISTATT HATAT FIT
2018 ¥ g1 T T

It is single point platform
for online processing of
land acquisition project

TZ ATSATSN g I
STerg T TRETSAT T
BIERIR AR e

It has been integrated
with Public Finance
Management System

TH TSI ot Jeree
STOTTEAT o |7 Tehiehd
[ERIRITIE

34

What is ‘ROPAX’ service?
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‘ROPAX’ HaT 4T §?

(a) (b) (c) (d)
It is a ferry service For this ROPAX Vessel | It can carry 200 cars and All of these
launched between M2M-1 will be used 1000 passengers 5 weft
Mumbai and Mandwa | =w% form ROPAXST&TT | THH 200 FT¥ ¥ 1000
(Maharashtra) M2M-1 T sETe fham RIEIE ST
Tg {as AT AiSAm ST
(FETTE) % A= & &
TS UF AR HAT
35 | Who is appointed as first Chief of Defence Staff (CDS) of India?
AT & Tg A1 A [T T2 (HIS10e) & =7 § e s T mam 872
(a) (b) (©) (d)
General Manoj Mukund | Air Chief Marshal R K'S | Admiral Karambir Singh General Bipin Rawat
Naravane Bhadauria TSR FHE T fHE st fafoe Trea
ST AN g A%ad | UAT A q140 3T 6
TH SE AT
36 | With which country India did joint military exercise ‘Surya Kiran XIV’?
AT o T3 297 o &7 696 8+ avvame g e XIV° fFa?
(a) (b) (©) (d)
China (=17) Nepal (F9T<T) Australia (JireeferaT) Sri Lanka (=frei=T)

37 | Who became first women pilot of Indian Navy?

ATEA T AT ¥ Tt AT ITIee i a=1?

(@) (b) (c) (d)
Shivangi Swaroop Avni Chaturvedi Anushree Dutta Shivanshi
foraift == qFAT AT et == foraisfy
38 | For the export promotion of Khadi Government has given it which tag?
Gl & AT 6 ST & (o0 X1 Hid a1 &7 7 {37 7147 87
(a) (b) (©) (d)
VIP Tag (dT3medT 1) HS Tag (T=TH &) Bonus Tag (ST &) GM Tag (Sirus &)

39 | Recently opened Kartarpur Corridor links which two Gurudwaras in India and Pakistan?

A &1 § AT ST qihedTd | i & &7 [EE H FHLAYL FHIS X o drer 10?2

(a) (b) (©) (d)
Dera Baba Nanak and Harminder Sahib and Fatehgarh Sahib and Takhat Sri Keshgarh
Darbar Sahib Darbar Sahib Dera Baba Nanak Sahib and Sri Akal
T 74T AT A e OTfed 3T a¥aTT | Fdgie Alfed 3T 37 Takhat Sahib
A iR aifze ATAT AT ed A7 FIETE HIfed AT
AT ST aeq Hiied

40 | Twang Festival is organized in which state?
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TATHT HATGTE o TS § ATITTora oA STTaT g2

(a) (b) (c) (d)
Mizoram Meghalaya Tripura Arunachal Pradesh
GRS REIER] B SEOTAA TRLT
41 | Under whose Chairmanship draft of New Education Policy was prepared?
Torereht semreqaT ® 7 e a1 96T T3 BT @ ar?
(a) (b) (©) (d)
Ajit Kumar K. Kasturirangan Abhijit Sen Prakash Javdekar
ST FATT ¥, FEEA Ffsta a9 THRTIT ATTSHL
42 | ‘Purvodaya’ scheme is related to the development of which sector in Eastern region?
“qATET AT AT &= § FoheT &1 o fashre & gatea g7
(a) (b) (©) (d)
Education (fore) Oil and Gas (d<t =fi¥ 9) Nuclear (TZHT) Steel (¥<1)
43 | ‘Swachh Nirmal Tat Abhiyan’ is related to which kind of activity?
=g, e qe atsaT o aeg &t ity & gataq 872
(a) (b) (©) (d)
It is aimed at to clean the It is for creating Nodal teachers from eco- All of these
50 identified beaches awareness regarding clubs will supervise such ¥ aeft
O 3297 50 Ffega coastal eco-system activities
T A AT AR FATE | T8 T THI-EEw = TrafatanTt &7
aﬁﬁwgﬁl%:;;ﬂ*m SRR
AFHEL 3@ TG AT
44 | What is ‘Tech Sagar’?
TEF AT T 872
(@) (b) (c) (d)
An online portal Technology Centre Cutting edge technology A ballistic missile
TS AT qIed I TR TS E I ETSERIET U dferfees fHaEe
45 | Which fact is not correct about UN Happiness Report, 2020?
TI<H Y g ATE, 2020 AT H &l 97 727 9af Tal 87
(a) (b) (©) (d)

Finland is ranked as
World’s happiest state

India is ranked at
number 144"

India’s ranking is better
than its neighbours

India is new entrant to
bottom-fifteen group

s fr g Faad | aRa 44 e ae g A AT T T0F | g s 15 % we &
AT 57 F =T H TETRRrE ¥ e & S —
w1 3T T 2 T
46 | What is ‘Doomsday Vault’?
THES Flee FATE?
(a) | (b) | (©) (d)
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It is a vault situated in
the Island of Spits
Berger midway between
Norway and North Pole

Tg T 3T IT0 g+
f= Roeg s fio |
foorq U aTee 2

It is to preserve a vast
variety of crop seeds
PEACIE R Eae e
AT AT FET FAT S

It is artificially cooled at
temperature of minus 18
degree Celsius

=& F0w 18 =4t
Ffeaa9 ITIHTT 9% 32T
ERISIGIE

All of these
T 74T

47 | Which country is not the member of Mekong-Ganga Cooperation (MGC)?

WHTT-TT AEANT (MGC)’ T TEET i AT 397 7l 272

(a)

(b)

(©)

(d)

India (ATZQ)

Nepal (9T<T)

Myanmar (FITHTY)

Vietnam (Faaa=ma)

48 | Match List-1 and List-11 and give correct answer from the codes given below:

THT- | 3 gHI- || &7 e 3 37 /1 [ 1w e 7 981 397 &
List-1 (Name of CEOs)

A1 (FrE i 7 A7)

| Sunder Pichai (Fa¥ f=Ts)
Il Shantanu Narayen (£TTe< AT
Il Satya Nadela (& 72T)

IV Sanjay Mehrotra (5T §8=)

List —I1 (Companies)
TAI-11 (FaT)

a. Adobe (T=Ta)
b. Microsoft (ATZ#HMATY)
c. Sandisk (F-fe+F)

d. Google (FTT)

()

(b)

(©)

(d)

abcd

dabc

dcba

achbd

49 | ‘Statue of Unity’ has been listed as 8" wonder of the world by which international organization?

TS A Al HT T ATTET S 51T AT & 8 & 3y & ®9 § qAd5 (T 147 872

(@) (b) (c) (d)
SCO (uH HY 31) EU (T 59) SAARC (dT%) ASEAN (3rfaram)
50 | Which country will host Men’s Hockey World Cup, 2023?
& giehl forsa T, 2023 T HSTATHT I FT 39T FIT?
(@) (b) (© (d)
Germany (STHT) Netherland (fTe¥ie) Australia (3ffegferaT) India (STZ)

51 | Which district of POK is considered by India as part of Jammu & Kashmir Union Territory?

et & Fore fSrer it 9 gy ST Sl weHiT i ot gaer T e 9 Srar 27

(a) (b) (©) (d)
Muzafferabad Mirpur Poonch All of these
AR He KE] T =it

52 | Cyclone Hagibis hit which country?

FHATT IR Tohel <97 § AT?
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(a) (b) (©) (d)

USA (F<F 7157 STaTea) Japan (SIT9T+) Indonesia (ST T2r) Australia (3feforT)
53 | Sir Creek dispute is between India and which country?
T e faaTs AT e o or o = 872
(a) (b) (©) (d)
Bangladesh (aiveTaen) Pakistan (qTedT) Sri Lanka (=freieT) Maldives (FTer<Ta)
54 | ‘S-400 Air Defence System’ has been procured by India from which country?
‘S-400 T foohe fBreew fohe 9T & 9T 31T @eiar T 82
(a) (b) (© (d)
USA (8 157 sT{v) France (ShT¥) Britain (fsre) Russia (F4)
55 | India agreed to purchase ‘MH-60 R Seahawk’ multi-role and ‘AH-64E Attack’ helicopters from
which country?
AT 7T 397 § ‘MH-60 R Seahawk’ #t Fg-s[fHaT ofiT ‘AH-64E 3[eH' ga(lahiey Gilad & fou
HgHd gar?
(a) (b) (© (d)
USA (<h 7157 s7afehn) France (Si®) Russia (%) Germany (ST9+T)
56 | What is the current status of India in the Indian Ocean Commission?
2T UETETR T § 9o it aqur fRafa #4182
(@) (b) _(©) (d)
Member (Ha+) Observer (TFET) Associate Member Chairman (37e77)
TEIYUE 72
57 | Refractive indices of kerosene oil, turpentine oil, water and ice are 1.44, 1.47, 1.33 and 1.31
respectively. Through which of these media light travels fast?
gt o1, T a1, 9T 3T T & TIad s Ak wA9: 144, 1.47, 1.33 3w 1.31 1 =6 7 T
HTEAH & SRTLT ASTT | ATAT HAT 872
(@) (b) (© (d)
Water (7T) Ice (%) Turpentine Oil Kerosene Qil
A a gt o
58 | For hydrogen gas, which one is not correct?
BISS IS 9 o [o1T, Fid |7 G5l A5l 572
(a) Is odourless (LI g)
(b) s not soluble in water (qT=T ¥ T T51 7)
(c) Burns with yellow flame (FT=t ST SIET SToaT 8)
(d) Lighter than air (3T & et &)
(a) | (b) | (©) (d)
59 | The phenomenon of shrinkage of protoplast from the cell wall due to exosmosis in a plant cell when
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placed in a hypertonic solution is called:

EIEIREIA® A § T ST I AT H § THAEHTEE 6 HIL0T HIT9HT il 1T T TEATEE 6
e &1 AT & FgT AT &

(a) (b) (©) (d)
Phagocytosis Exocytosis Plasmolysis Deplasmolysis
TSI THFETZE T TATERT T o SreATERTfer e

60

Bio magnification of mercury in fishes, through food chain, results in a disease in fish eating
populace. The name of the disease is:

GTE G@T % ATEAH | TGIord1 § 9T T 5 Aa4e grav g, e Agetl @i aTdl saral § SH|er
T gt g1 STHTLY T A1 &

(a) (b) (©) _(d)
Itai-Itai (SATS-2TS) Minamata (FR=THTaT) Peptic Ulcer Skin Cancer
e s =T FEL

61

Under which Article of the Constitution of India, the Governor of a state can resume a Bill for the
consideration of the President?

AT & |G % F0 s=ag % dgd, Ted & TSAITd I & o= & forw v Gregs =y e a
AT Thd &7

(@ (b) (©) (d)
Article 196 Article 200 Article 202 Article 204
FT=E 196 AR 200 AR 202 A= 204

62

Which of the following is / are true regarding Balwant Rai Mehta Committee?
FAAT T HAT TR o a2 § Aoferfed § & w9 aragr g/ 82
1. Recommended establishment of a three-tier Panchayati Raj System

Breafa gt Tt srareT Y wraAr i fErwrfer Fi

2. There should be direct elections for Panchayat Samiti

=T aEi % o sorer g9 g 9Ty

3. Establishment of scheme of democratic decentralization
KIENIEEREETFEIVEIRIEDIEIRIR T
4. District collector should be the chairman of the zila parishad

ST Fhetere &1 fSraT afiug #7 sregeq AT AT T

(@) (b) (c) (d)

1,2&3 1,3&4 2,3&4 1,2&4

63

Which of the following statements is correct about ‘Directive Principle of State Policy’?

et & & 1 |71 Fo ‘T it & e fgia F aw § a5 g2

(a) (b) (©) (d)
They are not moral and Their nature is socialist | These are automatically They can be legally
political IAHT T THTSTATT & applied on the state enforced by the court
ERIGERE RS G TES T TEATd €9 F 5T | 3vg AGTAT G HTAT
SELKS AN B = F AT PRI ST
&
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64 | Which one of the following is closely related to Yamuna river?

Frforfr & & #i o e A & Fovee e fo 22

(a) (b) (©) (d)
Pirpanjal (frzd=Trer) Nag Tibba (AT fe=a) Verinag (34T) Rohtang Pass
T a2
65 | Patlands is related to which one of the following?
feoe Mefoteg ® & e gafed g2
(a) (b) (©) (d)
Meghalaya Plateau Chotta Nagpur Plateau Deccan Plateau Chhattisgarh Plateau
THTAT T TSTT FTET AN FT T3 TFA FT T3 BITENE FT TSTT
66 | Which one of the following tribes does not belong to India?
Rt & & i =T TS 9 & Jatdd qgl 872
(a) (b) (©) (d)
Gaddis (T£T) Bhils (sfi<1) Khasis (GTHT) Masai (HHTz)
67 | Clean Environment Cess is imposed on:
Twg, AT IYRE SANTAT 74T &
(@) (b) (©) (d)
Cutting of green trees Pollution of rivers Production of coal Air pollution by factories
T UST il FeTs T T & T I FIIAT ITATET T FILETAT FTT AT T
q7
68 | Inclusive growth objective was given for the first time in which plan of India?
aTed o e TroreT | agelt are quraeft e sgea/ e e o
(@) (b) (© (d)
9" five year plan 10" five year plan 11" five year plan 12™ five year plan
69 | The phenomenon of ‘demographic dividend’ of a country is related to:
Torelt <91 o ‘SHETeR ATHter At HeAT ¥ gataq g
(@) (b) (© (d)
A sharp decline in the A decline in infant An increase in the sex An increase in the
total population mortality rate ratio population in the
FT AT H fore g T ¥ Rierae ELERRIGE | P-4 working age group
Fraefier o o #
AT SEEAT § gl
70 | Infant mortality rate includes children of the age group:
e g =¥ § o o T & g A 2
(a) (b) (©) (d)
Upto 14 years Upto 5 years Upto 2 years Upto 1 year
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1499 TF AT AATTTH | 5 FY qh il AATS dH 2 Y T il AT TH 1 a9 TF =l STt aF
71 | The objective of Gram Udai Se Bharat Udai Abhiyan is to improve:
TTH 32T & AT 3IaF ATHATT FT 3297 T F3AT &
(a) (b) (€) (d)

Rural livelihood only Social harmony only Rural livelihood and Agriculture production

Aot ATHTOT SATSTTRRT T | Feed AR g 7 social harmony FT FeTae

TTHIT SASHTEHT 3T
TTHTIST TG Td T

72 | The process of providing alternate land to community displaced by man-made projects is called:

ATE MRT aRF STt g Gemfod q9aTT it dsfes i T&TT F 6l ThAT HI Fgl STaT &

(a) (b) (© (d)
Resettlement Decentralization Displacement Rehabilitation
T ET o fEresTo KSEIL)
73 | Which of the following is one of the eco-friendly jewelry makers in India?
et & & 9 92 § IF7a207 o SIEd AU AT § 7 UF g2
(a) (b) (©) (d)
Blue Banyan Tata Motors Organic Weave Eco-Earth Conscious
=T T 1T e EINIEECE) Optics
THI-31 Fl oo
aAtfeaar

74 | Which of the following peasant struggles is famous with the title ‘Dungli Chor’ (Onion Thief)?

e & & i =7 e w=d el = (v =) ofidw 7 9fRE 82

(a) (b) (©) (d)
Bardoli (ATZ=TeAT) Kheda (@ET) Champaran (HT) Vaikom (aT$1)
75 | The word ‘Sadagraha’ was suggested to Gandhi by:
9TeT “FARIE’ LT ST T e FATT =T
(a) (b) (©) (d)
Kasturba Rambha Maganlal Gandhi Harilal Gandhi
FELAT AT HIAATA et gheTer et
76 | Towhom did Gandhi Ji refer affectionately as ‘Deshbandhu’?
Tt ST U F 'I9qFY’ F T H AT Ioard (HAT?
(a) (b) (© (d)
Jawaharlal Nehru C.R. Das Vinoba Bhave M.N. Roy
STATELATT g% o, o T ERIEIKIE] TH.UA. T

77 | Name the reformer of 10" Century who is called as the ‘Father of Indian Social Revolution’?

10 Y STATSET o AT T ATH FAT20, S AT ATHTST HiTd 6T STHF Hgl a7 67

(a)

(b)

(©)

(d)

Rammohan Roy

Swami Vivekanand

Rabindranath Tagore

Jotirao Phule
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78 | Who was the founding father of Harijan Sevak Sangh?
SIS Hae 69 % HEITIF (U1 i 9?
(a) (b) (©) (d)
G.D. Birla A.V. Thakkar Mahatma Gandhi Jagjivan Ram
ST, fager T 337 HETHT et SUEICDRE|
79 | ‘Kuchipudi’ is a famous dance form of which among the following States?
FEET o T & aftg T 8
(@) (b) (c) (d)
Andhra Pradesh Tamil Nadu Karnataka Orissa
EIERES GlEEELE Feteh IEET
80 | Which one of the following is not correctly matched?
% & & *1 A7 92T WA T 22
(a) Dandia (3T2=T) - Gujarat ([s7<Ta)
(b) Veethi (12ft) — Andhra Pradesh (31T T2er)
(c) Ganesha Utsava (9791 Ic9) — Maharashtra (FgT2Tg)
(d) Bihu (fg) - Uttarakhand (IT¥T@e)
(@) | (b) | (© | (d)
81 | Who launched the Non-Brahman Movement in Madras Presidency?
TETH TTed § -1 SAaTae fohee FeATan?
(a) (b) (©) (d)
E.V.R. Pariyar M.C. Rajah Mahatma Jotirao Phule C. Rajagopalachari
T Y. . ghEme T HT, TSI HETHT ST B =T, TSR
82 | Which of the following Satyagrahas Mahatma Gandhi did not lead in his life?
o @ 7 fore o &1 AT TiEt 7 e Stad | Agcd qal har?
(a) (b) (c) (d)
Champaran Satyagraha Khera Satyagraha Bardoli Satyagraha Individual Satyagraha
FI ATIE GET TATE JRET TATRRE RIARRIPE
83 | Which one of the following states of India experiences maximum percentage area under floods?
AT & MHted § & f6F 57 § 912 % T8 ATehad a9 e=1sdar g7?
(a) (b) (©) (d)
Haryana Rajasthan Himachal Pradesh Punjab
gham TISTEATH EElEERES LEIE]
84 | Which of the following is not a type of drought?
Aafofaa & & 9 UF T 7 @71 7ol 82
(a) (b) (c) (d)

Agricultural drought Socio-economic drought Industrial drought

Ecological drought
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0 T | wefw i gar | sfenfi e T Rt Tt
85 | Which one of the following is not associated with earthquakes in India?
99 5 & 9 9 H @ F Haiad qal 87?
(a) (b) (©) (d)
National Geophysical Geological Survey of India Meteorological Tata Institute of
Laboratory India Department Fundamental Research
ENEERE RIS EL] IERIEIEESEER HERIEIGEACEIR TTeT TEIS[E A®
86 | sum the series to infinity (4@ FT S 1)
3. 5,3 5.3 5
T TEtE Tt
(a) (b) (©) (d)
8/15 7117 7/15 8/17
87 | If one integer is greater than another integer by 3, and the difference of their cubes is 117, what could
be their sum?
T U QU THE IO F 3 AT ¢, ¥ I FLe HT dqT 117 g, TT ST TN 47T 2T Tha T 52
(a) (b) (© (d)
11 7 8 9
88 | A man sold 250 chairs and had a gain equal to selling price of 50 chairs. His profit percent is:
T STEHT 7 250 FIEAT A= 3T 50 FiEAT 6T foht o7 F Fwra Ard grive A saet are giaed
R
(@) (b) (c) (d)
5% 25% 10% 50%
89 | The ratio of present ages of Suresh and Paresh is 7:5. If after 6 years their ages will be in the ratio of
4:3, the present age of Paresh is:
LT ST T T AT AT FT AITT 7:5 81 AT 6 T o 977 IAehT 3 4:3 F AqITd | BT, av
T T ATHTT AT 2
(@) (b) (© (d)
32 years () 36 years (a) 28 years () 30 years (a)
90 | The sum of three numbers is 98. If the ratio between first and second be 2:3 and that between second
and third be 5:8, then the second number is:
AT HEATAT T AT 98 T AT TgA ST THL o A1 KT AqATT 2:3 T 3% @ 3 AL = FT
FITT 5:8 7, AT TAL HEAT &
(a) (b) (©) (d)
25 30 58 48
91 | A does half as much work as B in three-fourths of the time. If together they take 18 days to complete
a work, how much time shall B take to do it?
A THT F T-A19TE AT H B 3 AT sy #7197 F2ar g1 TS TF 91 H1H T FT | 3 18 o
A &, AT B &7 38 Fi § Tohae T 997 aREm?

() | (b) | (c) | (d)
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30 days (fa=) 66 days (f=) 40 days (f&=) 35 days (f&=)

92 | Two trains A and B start simultaneously in the opposite direction from two points A and B and arrive
at their destinations 9 and 4 hours respectively after their meeting each other. At what rate does the
second train B travel if the first train travels at 80 km/hr.

Fr 24 A T B UF A1 37 f&gel A 3w B & A0 e # % BIdT ¢ i UF gL | f9a & 918
FHI: 9 T 4 B Tl I T I TgAdl 2| I Tgedl o1 A 80 Toheft / =ieT it Ifa & AT Fixedl &
T O o B form i amar et 8 2
(a) (b) (© (d)
120 Km./hour 60 Km./hour 80 Km./hour 100 Km./hour
(120 =t / =ie) (60 Tt / =ie) (80 foft / =ie) (100 T3t / =e)

93 | A mixture contains alcohol and water in the ratio of 12:5. On adding 14 litres of water, the ratio of
alcohol to water becomes 4:3. The quantity of alcohol in the mixture is
U 0T 7 12: 5 % AT § AT T AT g1 14 ST Iy FHaAT 92, ST ST 971 7 97 4:3
21 STaT 81 Frsqor ¥ sreshiger it 91 fhaet 82

(a) (b) (© (d)
18 liters (feX) 42 liters (¥fe) 26 liters (¥feX) 30 liters (3f1e%)

94 | The most general solution of the equation tan 56 = cot 26 is:

THFTT tan 560 = cot 20 FT T THTT THTLTT &
. (@) . (b) . (©) . (d)
A s T T
9=;(n7‘[+z) 9=§(Tlﬂ'+§) 9=Z(nn+§) 9=g(7’l7‘[+z)
95 | If a is a small and positive number, then the equation x — a = %sinzx has:
Tf% a TF T 3T THTLHF T&AT g, T GHIFOTX — q = %sinzx g
(@) (b) (©) (d)
Two real roots Three real roots One real root No real root
ar fe =2 AT Raer w2 T R w2 T N = Tal
96 | The base of a triangle is fixed. Then the locus of the vertex when one base angle is double the other is:

T TRIOT *hT STETE T 21 STl Tk SATETE 10T ZA L SATET 107 67 &7 0 & e S 7 247 2

(a) (b) (©) (d)

y2+3x2+2ax+a*=0 | y?—-3x>—-2ax+a’*=0 | y>+3x>—2ax+a®>=0 | y?—3x*+2ax+a’=0

97 | ABCD is a square whose side is a. If AB and AD are taken as axes, then the equation of the circle
circumscribing the square is:
ABCD T & g fSEaT <17 a 2| T AB 3T AD & axes & &9 § {o0I7 STaT &, a7 a7 & qi(e arer
T T AHIHLT &
(a) (b) (©) (d)
x2+y2=a(x—y) x2+y2=(x+7y) x2—y?=a(x—y) | x*+y’=a(x+y)

98

The number of numbers that can be formed with the digits 1, 2, 3, 4, 3, 2 and 1 so that the odd digits
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always occupy the odd places is:

SThT T FEAT ST 8ihl 1, 2, 3, 4, 3,2 3T 1 & A7 aTs ST Hha([ § qTieh (0H 37 HLT [Auq et

(a) (b) (©) (d)
18 16 20 22
99 | Find three numbers in G.P., whose sum is 19 and whose product is 216.
G.P. & i H&ATY Tq i TorT, ForeaT TR 19 § ¥ et o 216 2
(a) (b) (©) (d)
4,57 4,6,9 4,5 10 4,7,10

100 | In how many ways can 5 prizes be given away to 4 boys, when each boy is eligible for all the prizes?

5 qTERTY 4 AZHI Al (ohad aLiai & (G0 ST OFd 8, T T T ASHT o1 TR 6 o0 TRT g 2

(@)

(b)

(©

(d)

625 ways (a<re)

20 ways (T¥TF)

81 ways (T<re)

1024 ways (TLTF)

*kkkk
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SPACE FOR ROUGH WORK (¥ &T¥ & forT &)
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SIS T AT TG oee qehele G i 9T Hgl ST qF T =H AT @it

10.

11.

FTARTE ATAFTE (FTHFTE T FRTLATIOrRT ATT) / &% e {1
=T (FTAFTL TSI ALATIORT AT WaAT TLET hi
Rrythia o917 : 02 97 srfershad i : 100
wEeA g fAder

AT THAT T g9 & A 912, T S i fFdr arareti & 100 w57 <% 2% gaole HiT T2dTe 1997 ¥ o fF
THH FIS &1 AT, Fel AT FeT g TS AT AT A< 7 2l IS VAT &, AT TH Hel o6 el IS § T
ISR
AT 36 Fawoe § A &30 70 Fie | o1 O da¢ forg=r grm 2
e T Fg AT 7 ford|
HTTHT AT 2T T ATHAR AHT ofie 92 & oo 397 / Fepen Ffaa #e 21 28 ofie e qieg e w1 % fog
Ager a2
THH g [ 3T & T &l Tiee did U o 97 SAUHAT A6 offe 97 2% gadle § &0 TT 741 F I F UAHE
Y e ofie ® TaT FohT 0 Sraramae a9 | ST9HT U 997, TCaheld qaY, $6 gahele G, T T TAqT THHT
FIE ST AT g T ATH 479 | o7 o7 Rt =3 a7 ATt & 93T 2
FoA7 41 % T g sefieam ff Rreaerd 8 & a8 s 371 soeh i aiel 99 F 97 94T U qa¢, 26 ohele G
(w / &t / |37 ) ST e q9% F Tl UAwIE o1 et 9 At FEwfa & #w Fw ot 3= / e
AT AT offe FF aefigia & oo saeer g
TAF TF F AT TAshed g1 T 39 39 / fawed &7 =79+ 3 O o Suwsme A ofie 9 ueehie F3AT A18d gl
T STl 1At g o6 U & srfers 37/ e 98l @ a1 39 397 / Ao & uAwe F7 S T 999 =171 7 g
et off Rafa &,y Wy % o shaer U 39/ e 741
asft Y11 % o THE 2
ATHA AT &ffe T2 I / fAohed TAHIE T % 912 37T ST THAT AT g 9T AT Fad A ATHIAT AT
offe FLTers &7 |17 2 | ST S Thele AT ATTHIA A6 ofTe HT ST T I A7 o ST 0 FAIA 2 |
TH KT F forT 25 Iocle F 9d § 79 57 2
qre: - gt wei % forw et 397 (S & = g 8) F o aseres s g
(8) TTF T=T F 3T & (o0 A Ao 81 s w1 & for, e fore svfieam g srera 3 faam v 39 ¥e7 v
30 70 ST o U ATATE §2 F T § FeIdT hT SATUIAT |
(b) =fE FrE ST UF & a(ferd 3L 3qT g, AT SH TAd 3L HIAT STTUAT, A F {207 70 320 § F U A8l g
Y 39 W % e Surh e g e St |
(c) =TT TS W1 GIAT SIET ATAT & TTHT SFHIEAT FIET HI I Agl (@47 STAT &, AT 39 T & o0 #°rg &2 7a1
|
(d) gwqa%wﬁwﬁﬁﬁ@@w%mﬁﬁw@ﬁ,wa&ﬁwﬁmﬁaﬁsﬁw?ﬁﬁﬂﬁr

I H T T U T UeRe 3, I 39 W o forw strated siwmvar R S |
o7 o SIS i R ekt ® a1 e faet ofF faeeria 3 wraer §, SHsh |eser iy |98t i faw wrersam
TS B AT BT off 5= fRares &1 ST Fet 94T | Tiasfed gl
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